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1.

Instructions — 9ymayenysser
This question paper contains 30 questions in Part A(General knowledge) and 140 questions in
Part B(Psychology, law and Police related subjects).
@eaiafllenggreiies uGD ‘o Ouigigfalss 30 alewndsenh wppth ugs ‘2’
2 enafluieh,#i" L1 PP nausbgienn F#biopsionenenas (140ederaser) o srerer.

- The type of question paper (A, B, C or D) should be shaded in the answer sheet using blue or black

ball point pen. The answer sheet without shading the type of question paper will not be evaluated.
@i aTemggrefier auamaenw(A, B, CorD) aﬁau_g,s neflab SisH@EIL_Ten @)L_gH6b Fevth
(1) sy fp ured umfer’ Gueanrtenaud Ganem® s1uph e Lt el B L ayib.
aflemgsraies aianaenn L el B L mall L_meb, oybs elent_sHmer 0B om gy,

- Write the Registration No. using blue or black ball point pen at the appropriate box in the answer sheet.

aflent_dgnaflch, fovib (1) @iy B Lmed mifsn” Guermenais Gsres(® LB e sreirensnr
PG LS5 61008, 196w il @i B 1 _ab.

. Answer all the 170 questions ~ 170 Gssiraflsend @b afen_wellds Garsi@ib.
. Each question carries half a mark.

gaiiGlans Casald@Lh sey wHLIG LIS aiprF L@

. Theanswers to the questions should be shaded in the relevant cirlces using blue or black ball point pen.

aflent_senen hovih (o) H@ LI Hp Limeb Lmiflsin. Guenmensud Glanen® DY ESHS UL Lmiseriled
uilleni. Sil_ayib.

- For each question only one answer is to be chosen and shaded.

@@ aflermaipE e alenL_evw " GG U oL B Layib.

. For wrong and improper shading, no marks will be given.

poupis Ul e BlyanGun, snsse Dmisnsa QeiisiGan o5s Caeralls e
1B 16 LT Flent_sa ).

« Write the Registration No. in the question paper — uley sreimeness Gaseirailssmefleh s1tpsayib.
. Write the SI. No. of the OMR answer sheet in the question paper at the appropriate place.

OMR aflen_ggneflsh eraimansnr Gaeirallsg meley siapsayih.

. If there 1s any (pnnling error, or error in page No. in the question paper, the same should be brought

to the notice of the invigilator immediately.

2 tog) aflenrrggneiled erGaspith sydats Ve Buin, Ldsmsear sluns @evevrail L 1Ger,
Gupumieaiurerii_tb qperpuil G sfwunesr Gssralsdsreners) Cuppid Qaneresiompy
SIDNDIES LI BE DG

- All the questions are bilinguial except language questions (English & Tamil),

UML) (S E@leh wppih 18tp) Gasrallsenen salliss sjenersgs Gaeirallasgmb @)yem®
Qomflasilay b Qen@és i eirarer,
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PART ‘A’ : General Knowledge
[ue o : Qung oyday |

A) Destruction of utility B) Creation of utility

clﬂﬂﬂ& &luc D) None of these

. Production refers to

. 2 PUSE eTeTLIZ

A) vweumC g6 sy B) wweium’ en_ o mend@se
C) wnpm @y D) eigioyiflsvensy

. The demand for the factors of production is

A) Direct Demand B) Effective Demand
C) Derived Demand D) Aggregate Demand
. o pugBésnen angesflaeiisn Gaenas aisiiLizg
A) Gpoy.g Cpenau B) 2mBd Caenau
C) GQupiiu . Gzenau D) gl @@uwriss Cseeu
. When goods are imported for the purpose of export it is called as
A) ForeignTrade B) Home Trade
C) Entrepot D) Trade
. IPPILRECsaT QU s @pa@us Ceiwiul L e year — eew
Sjenipaa L Hib
A) Qeuellpr B eQwmummb B) aarprl® efwrumrid
C) wp appiw® ewrumgn D) alwmumgib
. All the items given in the adjustment will appearat —_______in the final accounts
A) Three places B) Two places C) One place D) Four places
- QB sewmigadr guni Qeiuiu@esis Filist Gsadld srOLBH HeveTss
@emiseny — Gamerpib
A) aperg @)L sisefsh B) @ @rassfa
C) 9@ @b D) pneirg @) miseflsh

. A Hollow metal ball carrying an electric charge produces no electric field at points

A) outside the sphere B) on its surface
C) inside the sphere D) at a distance more than twice its radius

- iter L b Qupp o siref_pp Garers Lkg @y sips Yerelulle e wiams

TPUBEES

A) GamorgBenr GeualGu

B) GamengBenr Guopriginisd

C) GamergBeir o enGar

D) siger 24088 @ mi&he G adren gros e
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10.

. How much energy is released when one amu is wholly converted into energy ?

A) 1 Meyv B) 200 Mev
C) 931 Mev D) 10°Mev

. @@ amu Blenpwrerg Hynpers wippl u@bGurg, Ceeflall du@ib syHpeier sjemay
A) 1 Mev B) 200 Mev
C) 931 Mev D) 106 Mev

. Among the following, which atom does not contain neutron ?
A) Helium B) Hydrogen
C) Oxygen D) Nitrogen

. Weraumeuenauppien, By’ orer @eens g e1H ?
A) afellweb B) enamni ggeir
C) gy defggeir D) enpipgmein

. Which gas is used to weld and cut Iron metal ?

A) Ethylene B) Ethane
C) Methane D) Acetylene
. @by o Bevnsgens @enentda whpib Gleu L LweTLIGLD aiTey s1g ?
A) aigPeben B) #&Gsein
C) 185CGgenr D) @iy elain

. Biochemical mutation is reported in

A) Sorghum B) Cicer
C) Neurospora D) Drosophila
. 2.iGuB Bt wippib BB sam@Lgdaiu L g
A) Gemerh B) enaari
C) plyCurevGumgm D) 1y GoaGemFsveun

. Which of the following is a C plant 7

A) Maize B) Sugarcane
C) Rice D) Amaranthus
Weireugeuaraupysr s1g Cy sraumd 7

© A) wésnGerenih B) &by
C) Qpeb D) sjwonpssi

. Who first developed Vaccine for ‘rabies’ in man ?

A) Robert Koch B) Joseph Lister
C) Louis Pasteur D) Stanley

. waflgfed Briev Cpmitd@ wpse wpgsdler @R s BlbseuT

A) @omuil Gang B) Ggnsd) eSavii
C) gwudl umave i D) evGreral

—
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-4 (A
. The most abundant "Green house gas’ is
A) No, B) O, C) Co, D) So,
. QuELbuTETENOWTS STemUiLIGID Fewearmy. af(h) ey
A) No, B) Oy C) Co, D) So,
If two straight lines are perpendicular to each other, then
A) m;xm,=-1 B) m;xm,=1
C) my=m, D) my=-My
. @ew® CrpiGanGasar gamidbansin Clami@mds eresllsd
A) myxm,=-1 B) myxm,=1
C) m=m, D) m;=-m,
¥ 2 2
. The length of the semi-major and the length of semi-minor axis of the ellipse —— +——— = lare
144 169
A) (26,12) B) (13,24)
C) (12,26) D) (13,12)
x?' 2
. ——+—— = areip Beireur’ L_gHeir yeny G L da pmith Seny @nmés Benhiamst
144 169
A) (26,12) B) (13,24) C) (12,26) D) (13,12)
. “Glomyf) exruipy” erermy GurppUILIG LT
A) Rgbugprsen B) CaauCpuwiivmameni
C) @omd @iy Sygsenni D) am. 19. Gegnlsrener
. Epriygrestgeng @ wpplweut w2
A) GemEIGIg DaVETET FTHLY B) s.opidiyswarnt
C) saiqunsiiyseui D) a&n@b Lyeveurt
. A Sonnet is a short poem written in
A) 14 lines B) 10lines C) 12lines D) 7 lines
. ‘Euphemism’ istheuseof —_______ in the place of harsh words.
A) Offensive word B) Inoffensive word
C) Eponymous words D) All the above
. The Gupta ruler who was hailed as Indian Nepoleon
A) Kumar Gupta B) Chandragupta Il Vikramaditya
C) Samudragupta D) Skandagupta
. @pFw QpuGurellwer erepr yapin’ L. GUs s Ruiment
A) Gong LT B) @uesm_mb sp@ugis elEmmnBswn

C) supd@o wlign D) svaps @Lisi
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20.

21,

21.

22,

22

23,

23.

24.

25.

2.

26.

26.

The founder of the city of Madras
A) Dupleix

C) Sir Thomas Roe

Ceaitenes Eaeny By elwarnt

A) gyiGer

C) & gmoenv Ggr

‘Sathi" was abolished by
A) Lord Hastings

C) LordRipon

B wepou gifiisont
A) Gapevgmie gy

C) Mdiuesr Doy

The birth place of Renaissance was

A) England B) Germany
opioeuid Fufler gmwsih

A) @RRerig B) Gaiwesf

The West flowing river of India is
A) Narmada B) Krishna

5.

B) Robert Clive
D) Francis Day

B) gmuil Seneres
D) Soren@en G

B) Lord William Bentinck
D) Lord Curzon

B) aflevaflusn Cusiig.rr tHey

@B unafsir GopRed Limuh pHwIELD

A) piwgm

A) UttarPradesh

B) & meyenrm

. The important sugarcane producing state of India is
B) Karnataka

D) siser 19y

C) Taly D) Russia

C) @égnad D) papwn

C) Godavari D) Cauvery
C) Gargreud D) &rGeud
C) AndhraPradesh D) Kerala

QipBunailstr wpiw awiby 2 HpusS Codupd wrdeoh — <B,(&LD

A) 2 3BmCges  B) sipmianr

C) @pBninGses D) Gagern

For becoming a Lok Sabha member the minimum age limit is years
A) 21 B) 25

C) 30 D) 35

waseTenar o pinSeni e FHsrer GPESLL & g ST FET LD
A) 21 B) 25

C) 30 D) 35

The number of official language in India is

A) 14 B) 15

C) 18 D) 20

@pBunellsd symiBaéaii L Qumnfsais ssmenlsma

A) 14 B) 15

C) 18 D) 20
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27.

28.

28.

29.

29.

30.

30.

-6- (A

. Money Bills can be delayed by the Rajya Sabha only for
A) 30 days B) 20 days
C) 14 days D) 7 days
BB CGengrdaer wifle semanieans sgsmearn prlasr wl (b TEILGSSILS
A) 30 ol seir B) 20 mm seir
C) 14 gm'sar D) 7 palaer
The Governor of a state is appointed by the
A) People B) Parliament
C) Chief minister D) President

S0 wrfewsBen sy espeng Hubiug
A) waser

B) unpnepwsipih

C) wpasesd yerwaai

D) @uwosd seveari

Price Discrimination is possibleonlyin
A) Duopoly B) Oligopoly
C) Monopoly D) All the above

aflencw Grigtd sm BiFed snewiiLfes)
A) @i gppmifentn

B) feaGauri wppmifenin

C) wopifenn

D) sienendgib

Too much money chases too few goods refers to
A) Cost push inflation

B) Hyper inflation

C) Demand pull inflation

D) Profit push inflation

B uTeT Uesh 1N&d GeomES USHTL BisensT 10551005
A) Qeewey 2 gg venr aldsib

B) tRens Beusds wiewralssin

C) Gaeneu @uptny uesraldaih

D) @evru 2 pg Lewaldaih
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PART ‘B’ ; Psychology, Law and Police related subjects

31

31

32,

32,

33

33.

34

34.

35.

35.

- Anaccused committed an offence of house breaking by using false key. The MLO. classification is
A) IT(K) B) I (C) C) 11 (N) D) 11 (V)

PO Gppounal serars srafuime Yo g Dmisr Hopigenmsh, SG SThg @Hom
IEILIT g6 @i Bz CousinGun

A) 11 (K) B) 1 (C) C) I (N) D) 11 (V)
Intimation about the arrest or detention and release of MLA's, MP’s should be sent
immediately to

A) Prime Minister B) President of India

C) Speaker of the State Legislature/Parliament D) Chief Scerctary to Government

FUL e o min Newi wHmILh Lnameniostn o picn Nemiams g G?atr}ml.'.ru@xb@urrﬂ
Sbg ol Bsenen @m.r_'.rw!.iu@:h@ung.r DL SMQuInE Bpdianeim_ PUERITL S FHarsy
CgMafsasiii Ceussm@ib

A) Aoz wieh B) @uwoad sepsvaut

C) a:;;_amu/urmrr@gmchp Funpmuat D) syusg sevevenin Glewsisumeri

Which of the following sections of Indian Penal Code deals with the offence of

“Dowry death” ?

A) Sec. 304 IPC. B) Sec. 304 B IpC.

C) Sec. 304-A IPC, D) Sec. 498-A 1PC,

Eipseia_euphlen @B sein_enews UL R a1ts ey “QurgL senenr Logessmin” Ligyf)

GAOI@Rpg ?

A) 9ifey 304 §).5.0 B) 198e) 304 B @).4.5 n
C) 19fey 304-A @.5.4 D) 19fa; 498-A @.5.5

Disclosure of Identity of a victim of rape is punishable under which of (he following sections »

A) Sec. 376-A IPC, B) Sec. 377 IPC. ) Sec. 228-AIPC. D) Sec. 509 IpC, 1
SO @00 mefleh UTEES LI L aueng BLET Zyev_wimensh Glauyib Lig

GleveliiL@ gz Bipssin siis (ilafer Bip @poib ?

A) fley 376-A @).5.s. B) 19fay 377 @.5.5.

'C) My 228-A @).5.4 D) e 509 @).53.4.

“A’commits trespass entering a graveyard and offers indignity to human corpse disturbing the
persons assembled for the performance of funeral ceremonies. ‘A’ is punishable under which
of the following section ?

A) Sec. 427 IPC, B) Sec. 206 IPC. C) Sec. 503 IPC. D) Sec. 297 1PC.

‘& el mud @@arn;m.gudr HF g8 BIephg el AGrzgens’ 2RI E Iy Qlauigh,
Sl _gBeb mindar G F e Glaiiagp e Tl W STToTRU T 61 i @y gy

aflenarafld Spm. Goping ‘= puer G wsvmensgy Bipangib s1is (9iaDeir 81p @mmih 7

A) 9fey 427 [OF- ¥ 3 B) 199« 296 @54

C) ey 503 @.5.9. D) ifey 297 @.5.4.
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36.

36.

3.

3.

38.

38.

30.

39.

40.

40.

% (0

Sec. 494 of the Indian Penal Code denotes which of the following offence ?
A) Bigamy B) Adultery
C) Prostitution D) Criminal Conspiracy

ifley 494 @EBw getn_eend sl Fpangpin eisiumswurer GHpiReaear GAIOR D 7
A) aeeueit sjesvugl wenenall 2 L ar @md@h CunGs aw@ib Buswewd Qaiss

B) wenp Oppis jemia

C) efludangd

D) @ppuprpr B

Which of the following sections denotes the offence of ‘Unlawful compulsory Labour’ ?

A) Sec. 373 IPC. B) Sec. 372 IPC. C) Sec. 374 IPC. D) Sec. 375 IPC.
Bpangmub Ifeyseliey eps difley “#l L yianopp s mu 2 el @ppsBenen LpH
GO E g ?

A) ey 373 @).5.4. B) ey 372 @).5.4.

C) dfey 374 @).5.4. D) ddey 375 @l.s.4.

If a theft in respect of any idol or icon in any building used as a place of worship in the state
of Tamil Nadu is committed, under which of the following sections it is punishable ?

A) Sec. 382 IPC B) Sec. 379 IPC

C) Sec. 380 (2) IPC D) Sec. 381 IPC

SUOPETL 60 0. 6Ten e1EE G S 1D @GLbIReugpans LwueTLRESOLEHRDBCHT,

Hd& 19 gFepier o arer aldRraiensGur giwg e angaidensGunr seraun@ib
Qewevnang eiis Eipargmib (Afellsr & seing daising 7

A) 9fey 382 @).5.5. B) fdey 379 @.5.4.

C) ifey 380 (2) @).5.5. D) dfey 381 @).5.4.

Which of the following punishments is not covered under Sec. 53 of Indian Penal Code ?
A) Death Penalty B) Solitary confinement

C) Imprisonment for life D) Fine

Bpangyib pemL_enansaie sihg semiener (Mfey 53 @R st _snend a1 GH
GO L ng gt ?

A) wgenr genr_ene B) sgafluns Renpenaiiiig

C) yuyeir gevrt_enew D) sjunnsib

Whoever by words either spoken or written, brings hatred towards the Government established
by law in India is called

A) Affray B) Rioting C) Sedition D) None of the above
@pPwmailed sl iy Boant Qupp srfener Gersiaiii L Heg sIapSLILL L
Genpaer apauions Qaupiliyde s sremmé@Sp @GOpb sTaeuTy Henpss LGRS 7
A) sdagey B) swawb aflearallggsed

C) spedzBonath D) Guplererarensy sigiayb Qumshs s
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41.

42,

42,

43.

43.

Sec. 188 of Indian Penal Code denotes which of the following offence ?
A) Disobedience to order duly promulgated by public servant

B) Affray

C) Causing Hurt

D) Public servant receiving bribe

wiey 188 @iBw sein_evend 51 _ib 155 GopsBeen LpS GAIGE g ?

A) Qungl ssnflugned wperpuins aflerbiriin PG SLLNEGE Bprig uimenin

B) s#éagey

C) smub efenenaiiiig

D) sipa safluirt sogsetd aunriigeug

Whoever escapes or attempts to escape from any custody in which he is lawfully detained for
any such offence is punished under which of the following sections ?

A) Sec. 212 IPC. B) Sec. 222 IPC.  C) Sec. 220 IPC. D) Sec. 224 IPC.
araugmiiignith s L AP wnss sreuedsy UGS 1 GEGLD LIng ST sigeficTpib 155
Heeg HUL apugyh GLimg Bipamemih 15 19Maflefah Bp sewmy U@ pri ?

A) ey 212 @).5.5. B) 184ey 222 @).5.4.

C) widdey 220 @).5.5. D) Sfey 224 @).5.5.

Sale of obscene books etc., is dealt under which of the following sections ?

A) Sec. 300 IPC. B) Sec. 292 IPC.  C) Sec. 290 IPC. D) Sec. 295 IPC.
HUNE YFgamaer alpumen Qadized apseluer stig Bpangmih IMelenr Bp
GBI Geirengy 7

A) Ry 300 G.5.5. B) Wifley 292 @).5.5.

C) ey 290 @).5.e. D) 9day 295 @)-5.4.

- Sec. 170 of Indian Penal Code deals with which of the fol lowing offence ?

A) Punishment for cheating by personation

B) Punishment for cheating

C) Personating a public servant

D) Assisting in concealment of stolen property

- dfley 170 @Ffw sem_enews a1 1_th Bpangpnb s @ppiPeoer GEUOGRng 7

A) gsinonprl L ggnsb FOTDYUSDES SeaL_enen
B) eswnppieuspes sev_enen

C) @ung sanfluiengs Guimeh yeir tompm i Gladrgey
D) 8@ el Qurmgener P ULSHE 2 gaf Criige
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45.

47.

47.

48.

48.

49.

49,

-10- (N0
. Act endangering life or personal safety of others is an offence under which of the following
sections ?
A) Sec. 335 IPC. B) Sec. 336 IPC.
C) Sec. 337 IPC. D) Sec. 338 IPC.

2 @BaG vy wHpaTElGET o L pUrgETINIHE syurwuth eleamalsfp Caliemns abs
Bipangspud fefefles @ppb ?
A) Aifey 335 @.5.4 B) 19fay 336 @).5.5.
C) diey 337 @.5.s D) 19fe; 338 @).5.4.
. Unnatural offences are punishable under which of the following sections ?
A) Sec. 376 IPC. B) Sec. 375 IPC.
C) Sec. 378 IPC. D) See. 377 IPC.
. Qupensd@ wrpren @ppRser pangih stis (Wefler Sp @ppd ?
A) ey 376 @).5.5. B) fey 375 @).5.4.
C) ddey 378 @) 5.4 D) Sdey 377 @).5.4.
Act of a child under how many years of age is not an offence ?
A) Under 7 years of age B) Under 8 years of age
C) Under 9 years of age D) Under 6 years of age
a1Bs MWBDGL UL L @ Gippenguiar GFwe @ppopmsns sasiu@Rng 7
A) aup B pHaEe i’ B) a1 (® euwBp@ i
C) getug auBp@Lul D) o arwu@mHeEse

When two or more persons by fighting in a public place disturbing the public peace is said to
have committed the offence of

A) Causing Hurt B) Rioting

C) Assault D) Affray

@uoen® odwg 2s0@ Gupul L aisd g Cung @) iBd save ulGuseT apaid
Ouingl seroBevwid Gemevd@ib Guing syeuiser Bpangmih ais Gopsans YIS priser ?
A) smunh 2 e T @GaHed B) swaib alensraidse

C) sragsa D) adamey

Under what provision of law a Police Officer may seize any property which may be alleged to
have been stolen or which may be found under circumstances which may create suspicion of
the Commission of any offence ?

A) Sec9l B) Sec. 102 C) Sec. 100 D) Sec. 200

sipg Afaler Bip srasy gyt BoLlul @ @Uugns GarsaliuGih ssag
Boriulyolusns spCasiu®n apg Quigemeryh (ysvawg)@pp gGsgih
Gedwiiu’ Gerartlgemib s5Bssdms o e ré@ @pRaauiea & @b Qg
snsUiuppemnd 7

A) 9fey 91 B) ddlay 102 C) ey 100 D) ey 200
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50.

50.

51

51.

52.

52.

53.

33.

As per Sec. 154 of CrPC every information relating to the commission of cognizable offence
if given orally to an officer in charge of a police station shall be reduced to writing by him or
under his direction and be read over to the informant and shall be signed by the person giving
it, such information is known as

A) Final Report B) First Information Report

C) Police Report D) None of the above

diiley 154 @.af. 5. o0 0 g e gt Gadigne i @DpLlnemy Gl g @wugs Lppus
Geubleuns saaugb sreas Hensuur Glumpyiiny SIS NG umirGlomfuirs

Glan@ s iu @ wrermsy 2l AugnGoon () 2. gBreflsring Quim STUpHLILIE S0 GousiBib,

paeush Qan@ésaifi b Liug g SN EE s @i CQupBGausiPub. syhs saausilen
Gl erairen o

A) QB sfdens B) wsed gaas syfémas

C) anerch ypfldens D) GuGa Qarerer afent_ser Glirmsibgma

Under Sec. 173 (2) CrPC the Report of Police Officer on completion of investigation is

commonly known as

A) Final Report B) Police Report

C) Investigation Report D) None of the above

tifley 173 (2)1ig. yevewndisnar tpyde Aeir sraish syauarei grdas Glautupb pyfldens

Gungiaums SIGUQITYY Syeppdaliu@ih o

A) QB pfdema B) aneush ypfldena

C) yewenrndia) syfésna D) Guweb Qenerar aflen._ser Clummiasng

Under what provision in Criminal Procedure Code the Court has power to postpone or adjourn

the proceedings in any inquiry or Trial ?

A) Sec. 317 CrPC B) Sec. 309 CrPC A
C) Sec. 437 CrPC D) Sec. 436 CrPC :

@Gppailueh Fent_upenpis’ L B s1bs (flaflsir &1p BRwaIpEBHEG uhFaenen (1)
SIFTIRST FLquiy denassr Foral PULILBHE (Do) @5 QULIFDETET T Emgih
saw® ?

A) fey 317 B) ey 309

C) 19fey 437 D) 19fa; 436

“Under what provision of CrPC, a party lo a proceeding may as soon as after the closure of his

evidence can make oral argument and submit a memorandum of written arguments, if any ?
A) Sec. 311 CrPC B) Sec. 314 CrPC

C) Sec. 309 CrPC D) Sec. 320 CrPC

GBPeNuS Fent_penmn FLL SR e1is 1Mefleh afsnrenenr UPhS eani anps Fleb
FOUBSULIL L HrTer T Glomfluimren QNGRS G en g uLh STUQHE S epsviones
wurdgamggensuh £5 wepgPe Qediwanrth ?

A) Idfey311 B) 99ay314 C) Sfay 309 D) ey 320
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54. Under what provision of the Criminal Procedure Code the Court can order to pay compensation
by the convicted person to the victim of the said case ?

A) Sec. 257 CrPC B) Sec. 357 CrPC  C) Sec. 157 CrPC D) Sec. 360 CrPC

S4. erps 9Nl Brp e BB pib gL manyih wHID Fapl- FHD LETIBTIGHHS
Glsmpdseombd 7

A) ey 257 B) ey 357 C) ey 157 D) ey 360

55. As per Sec. 438 CrPC, the High Court and the Court of Sessions can grant “Anticipatary Bail”
only in the case of

A) Non Bailable offences B) Bailable and Cognizable offences
C) Both Bailable & Non Bailable offences D) Non cognizable offences

55. @.afl.p. atle ey 4386k Lig. 2 wiBBinsiipih wHpith i BB wpei gomibsit Aupasii
subs anpd@aafilsy apmisemh ?

A) Beneniflat el qpy.wng HHmid

B) demeruileh el _damigw wppib enagQeiissn@iu GppLb

C) Qenaruflet @b wopmih af_(pig wng @& Hmsisst

D) evag Gedigpefugsdens @b
56. Section 320 CrPC deals with

A) Compounding the offences B) Withdrawal of complaint

C) Legal aid to the accused D} Discharge of the accused
56. ey 320 @.af.gp. 1l 1b srengd @HEFReTng 7

A) swngmembd Gleuig Glandrend Gppmisener Lipms

B) @ppder e Bmibu Gupise

C) @ppw Qedis UGS HTHS apalh 2 Foyged

D) @ppib Qg puer @ aldss Lipm

i

57. If the offence is punishable with fine only, the period of limitation shall be

A) Six months B) One month C) One year D) Three years

57. 9@ GPpEEHG Sugign w GGw v _svanwns ABEGL LILFEH® AT
aflFTgenenTa @ eIpUZDHTT ETVQIILL sTeian 7

A) symi wrsdiser B) e wrgh
C) @ sugpLtb D) epeirmy eugsL missin
58. Warrant cases means case relating to an offence punishable for a term of imprisonment
exceeding
A) 2 years B) 7 years C) 5 years D) Not exceeding 2 years

58. g gevemr auypd@ sTeirLIg! QUGLmI&EEdHE Glosh Feynd STaIeme e enaiuins
al@aéag sas @GHoh LB apsRenerd @@L
A) Quen® e missT B) g eugsib

C) mren@ eugsL mider D) qpeiny susLmissr



59. In the contents of charges,

59.

61.

61,

62,

62,

63.

63,

A) For enhanced punishment
C) For set off punishment

13-

the previous conviction of the Accused shall be stated because

B) For less punishment
D) Does not arise

GppLLRNesule stRMuien Upstt geim_enemenws Lipf) @i Goushng ur sngenmb ?

A) HBs sew_ener amma

C) sam_averenw fis

. Case relating to an offence punishable with

term exceeding two years is considered as
A) Summons case
C) Sessions case

- 86 MPEBGD gL enar grai, FOELD

B) @opis sem_ever cuners

D) e13g eNsimen sngemupth @) eene

death imprisonment for life or imprisonment for a

B) Warrant case
D) Not any of the above

g Renp gew_enar () Qren® oL gD pe

Glosh geimi_ener araitLig) —_—

A) syenpriimen RYTER
C) Geapsiran QP @

As per CrPC Section 70 (2) every warrant

B) g wrenar RUTEAT
D) GuGw Garsrarena sigiagth Gl kg ng

of arrest issued by a Court shall remain in force

until it is cancelled by the Court or until it is executed.

A) False B) True

C) Partly true D) None of the above

@-afl.p. #1119y 70 (2) g QFdiauspana Qar@ésii@b 1Ty aungedsn” #5) weirmib
T8 Gladiujh umrdiignbd (o) seng HUPRUBER BLang dena s auenruleh

Bwésh aeimy Cenarenre

A) Glumds

C) un® o ewenin

Cognizable offence is an offence in which
permission from
A) Court

C) Government

B) 2 ewenin

D) Guwle Qencrarency sigiayib Olimm s

a police officer before making arrest has to get

B) Superior Officer
D) NoBody

“enag Cleurous pi@ Mus @DpLh " eTsiLIgy Hrarsy ST QoI ag Glaiiyh (pstreut

A) ERuwepih

C) wgsnmism

Qu1b @bz B Cup Carsmib

B) Guoed @
D) sreugpiflevensy

As per Sec. 164 CrPC Confessions and Statements are recorded by

A) Sessions Judge
C) Sub. ordinate J udge

B) Judicial Magistrate
D) Executive Magistrate

@ ol p. 1 b 19Mey 16401y iyzed wppb UTdGapeBiaer LB ey Qeiiuiu@u et

A) wpwiey FHLE
C) 2gaf sywoiey FRLS

B) $psziop eppeiues p@ai
D) @ewsigienn m@eaui



65.

65.

66.

67.

67.

. 9B Gopaurelew arae syayaiafar Gmy i, EBemib 1oz
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. Police custody of an accused can be granted by a Court only within first days of
remand.
A) 30 B) 15 C) 45 D) 60

Hrmeir

amausy FreuGlaHad@er ren sginBds Gareinih
A) 30 B) 15
C) 45 D) 60

Under the Indian Evidence Act, as per Section 3, “evidence” is of two kinds, what are they ?
A) Oral Evidence and Documentary evidence

B) Occular Evidence and Medical Evidence

C) Direct Evidence and Circumstantial Evidence

D) None of the above

@@ w snerpyda b 19fay 3 st g “am Punh” @ueiesungd - genar wrena
A) uniGuomf] sl Puith gyeuenr sn’ Huid

B) aawgmpp sn Fluib wmdges s fund

C) Groy sm’Puih @ipflensw sm’ Huih

D) GupGensrer aflen_aeir GlLimshsna:

. What is meant by “Direct Evidence™ under the Indian Evidence Act ?

A) Testimony of the witnesses as to the principal fact to be proved

B) Medical Evidence

C) “Hearsay Evidence”

D) None of the above

@ eneipida L gBa steneu “Gpog erl Puwns CsmsOuEE DS 7
A) gdsenen o citer srisB sl LuHM sm Naefler o enpé areigy

B) wmggieusn uib

C) Gadralflencvd sneip)

D) GupBensirer alen_asir Qg isra

‘What is meant by “Extra judicial confession”, under the Indian Evidence Act ?

A) Confession made by an accused elsewhere, than before Magistrate or Court, to any person
or Body of persons

B) Itmeans confession obtained by police-illegally
C) It means confession made by an co-accused
D) None of the above

@pPw sncips s L_gRe fRisieop snons USRI SISTDTS sTeiTa 7

A) pRwepib (1) EBggIeom pEeT syvens Cougr puif jebag FLisel_th
GensveuiiLiBib SUILFQYeNT

B) anash sygyeummey gpenpupp anfluiiss Gupliu’ L liysgyens
C) sagppeurall CQar®ESh el sayer
D) Gupbareren alleni_aser Quimmhsms
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68.

68.

70.

70.

What is meant by “ALIBI” under the Indian Evidence Act 7

A) It means physical impossibility of the presence of the accused at the scene of crime by
reason of his presence at ancther place

B) It means person fleeing after commission of offence
C) It means a person who settles abroad after commission of an offence

D) None of the above

@FBu areps o1’ L R “Gaippl s " (ALIB) ersiren@eusiny GLimgmanLi@id 2

A) a@f sibuar @R Geenns GaupuiL g@ed FhuBGrErsRe @) mbossTs
FapLILBILD QITEHLD

B) @ppseas ufpsel @ gu gellig Qanam_ned sy QurgsTU@L

C) e @dpsens yipg o9 @ Qeuslpr® Qospei@se

D) GupGansren alenrasr QLNGESIH

. “Presumption of Law" may be classified under two heads. What are they 7

A) Rebuttable presumption, irrcbuttable presumption
B) Legal presumption, illegal presumption
C) Moral presumption. Immoral presumption

D) None of the above

. el dBwner giendly” @)s uensaEaTTEGLD. e wremas 7

A) pé@Qaremrggieniyy, wanfusgenfly

B) sl i_gpempuinen gienflLy, a1 _presnen giawii

C) apuperpunes giesli), pepepuHD Sl

D) Gupersrer eflenisar GlLnsbsnsl

How the “DOCUMENTS" are classified under the Indian Evidence Act ?

A) Public Document, Private Document

_B) Written Document, Unwritten Document

C) Legal Document, lllegal Document
D) None of the above

@FBw s Russ L R "y euennd” adiaimp s UL Berarg T
A) Qung speusard, el e

B) siupaliLil L gyeuentib, sTUpSLILIL NS JLesenih

C) sligpenpuirer aismiib, L1 (pepuHD 2, SUEHILD

D) Guperdrer aflenisar Gunghs151

R
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73.

71.

72,

72.
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Whether “LUNATIC” is a competant person to testify before the court as per Sec. 118 of the
Indian Evidence Act ?

A) -No- He is not a competant person

B) -Yes- unless he is prevented by his Lunancy from understanding the questions put to him
and giving rational answers to them

C) -Yes- He is competant to testify only in civil cases

D) None of the above

@B snepr s g@sir ey 118 ¢ g st et fBwanERe s HQamses

568 urlifgenn 7

A) @evdv - sERuppeart

B) suth - gewresfl_ih Cal i@ Caeralsdr il g Gs reirenayih DUDDIE S
uGEsadEsis u@éamm@an@dugﬁ@ 2Aaing $sHenew e wins @evavmaiiyc

C) syb - o Menwaipdgaelsy i Gub #n’ 5 Gersey SGBuTuUFSUTTS H@E0LEMTT

D) GuBew Qeneiren aflenL_ser Cun s g

A" Prosecutes “B" for theft and wishes the court to believe that “B" admitted the theft to

“C” — who should prove the admission of “B” ?

A) “C"should prove the admission

B) "A" must prove the admission

C) Both “B” and “C" should prove the admission

D) Both “A™ and “B” should prove the admission

Dol RéGppsBnisns o aetuan “@" ereueut 1By GOpuYsE QsT@&E P

"’ sEBmLetups “&” ereeiL b @LIyECS T mi erew pEwaDFens

BouGaisi@ib erar o spBpa. wni HIFF apliysngenw Godinfds G o

A) “&" Quounfés Geusim@ib B) " Guinfés Goseir@un

C) “&" wipnb " Quiniés Gass@ib D) & wppnb “&" Ouwiniés Garsrds

. Whether a “Police Officer” shall be compelled to say from where he got information as to

commision of an offence ?
A) Yes — He can be compelled by court

B) No - He cannot be compelled

C) Yes — He can be compelled by Defence Lawyer

D) Does not arise

FMUGD JGyaiauit sTeuengujLh G @GPpb Al Ogem saash SIGENEULD G1m1IE) 15 651
Guppni sreirgy GlgMafa @by SULMTUU@ES wpgujion 9
A) 2yt - pPuosipssnc

B) wywng

C) ayb - eiBigmiy aupdsPesaned s L m UBES (prgugip
D) Gup@ersiren aflen._ssir G i
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74.

74.

5.

75.

76.

76.

71.

Ti:

“A" is charged with travelling on a train without a ticket. The burden of proving that he has a
ticket is on whom ?

A) Prosecution B) The Burden of proof is on "A”
C) Burden of proof lies on the court D) Does not arise

“ oy Veraitueut LwsERL g sbenioe Gruielleh Lwennd Qadiggna @GP FrlL UGS
et @ Lwed Fl e eadBEEgnT steiues Q@b seain wreny FIIHSFTGLD ?

A) sEsTSs B) Quunid@ib senin oy " eneu snipasrEh
C) Quinfdgh sanw FRSnGns D) GupGlersrer Gaerall sipng
FITITES ST (& LD

How many witnesses are required to prove the “facts in issue” in a case ?

A) MinimumTen B) Minimum Twenty

C) Minimum Five D) No specific number of witnesses required
9 aupdfied LIgigenar o sran sniaPasen FlpLiss oisbevg Counides sbsemen sm’ Hub
Gaenau 7

A) @episiulsm - 10 B) @esppsulsb - 20

C) @eoppsliu b - 5 D) stggenar sn’ Funb Baeney erew
auenTwrés UL aflshen sy

Whether in a criminal proceedings the fact that the person accused is of a “Good Character”
is relevant or not ?

A) Relevant B) Not relevant

C) Only in specific circumstances D) None of the above

GOPAHEG FLagdamaseiiss TN pHEGeMD 2 e war seLIB T FisH

Qe iyppETs SGHLILGbLT (Iysbawg) Gevemeaur ¢

A) Qan_iyppsns &msULGLD B) Qam_iuppsnas @@ uEIwn

C) Pa @ypheowseis Qgr_iyppsig D) Gupllsrser el e CUTGEETS!

How the contents of the document may be proved as per Sec. 61 of the Evidence Act ?
A) May be proved by “Primary” or Secondary evidence
B) May be proved by circumstancial evidence

‘C) May be proved by oral evidence

D) None of the above

@pPw em’ Ruds LR Ilay 61 et Ly geusmrisafian o dran_dagens sy
Glotnfgse GeuerGitd 7

A) wpaeogr s HussiGar, Goevinigs snlfuignGen Guodnddsemb

B) sspflensvd ensiips ppevth Qowiiigaevumid

C) aumir@omyf sm’ Nwih epevih

D) Gupeensrer aflenLser QumBEsTg
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78.

79.

79.

80.
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Whether a Judge can ask irrelevant question on a fact to a witness during trial ?
A) No —Judge cannot put such questions

B) Yes — Judge can put or ask irrclevant questions

C) No - But he can ask in civil cases

D) None of the above

@ BBy BT aps smaBewu upPu “Qsn_iupp Cadmaleau’ Gal s (LpLg LD 9
A) wprwngs - Gan_iupp Gasrelenw Gal s wpigwig

B) syib - Qaniupp Casdralenw Bar sewmb

C) wprpwng - gpenned o fenis auppdgaaiiey il Gib ol s

D) Guplansren allenr_ger Qungizng

When a man is presumed to be “dead” as per Indian Evidence Act ?
A) 1If he is not heard for 15 yrs or missing for more than 15 years

B) When a man has not been heard for 7 years by those who would naturally have heard if he
had been alive

C) When Death Certificate is produced in the court
D) None of the above

S wallsi Gppg o sten B werpih e1)BLig F@@EewTh ?

A) syeurt eriigarent sren aflumh 15 aupiiserdg Guad Qaflumosh Gurers syweag
et anemmosy Guimermey

B

—

et 2 L GosBeUiurmieg syaerd upd @uers Gastal LU g.bas
Fnlg WRUTERST TPTEETE HTevdgIdE Ml Lhp Gaaraill) L_afdene srear
Qo da L’ L med

C) wyoui @mis afL_gna snsip srégss Qg

D) Gup@ansrer aflen_ser QU isng

. What is meant by “Leading Questions™ as per Sec, 141 of the Evidence Act ?

A} The question asked by Judge

B) Any question suggesting the answer which the person putting it wishes or expects to receive
C) The question asked during ‘Re-examination’

D) None of the above

@pFw sndpris’i_ B Iferl4] er Ly oflent QunPalerrdsdr stepreh steirar 7
A) pRuwsipggned CalsluGn Cadad () aferr

B) afleney®p g@ant gmb Qup elwmbyfp sycdag a@iunifep el smend @@L
2 enniggin eifhs aflewmayh

C) wpy efsngererruienr Gung Gat'sliu@mn Gasral
D) Guevbl#nsiar allenL_aer GlLimssrs
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81. 1/3 portion of a tank is filled, with 80 litres water. If its half portion is filled, what will be the
quantity of water in litres ?

A) 120 litres B) 160 litres C) 80 litres D) 240 litres

8l. g seimenfi Ggni g ufler gpeinfied o LGS 80 ol i pewenius o Brciucu Geireng).
Qem’ g fer sieny LGH Fpliuliu e, sBgysten emelfcr syere) stégener el Lt

HGib ?
A) 120 oS it B) 160 eSt"c i
C) 80 el D) 240 e’ it

82. There are some bananas in two bags. The number of bananas in 1% bag are 1/3 more that of
the 2™ bag. If there are three bananas less in 2" bag than 1% bag, then calculate the number
of bananas in 1% bag.

A) 6 B) 9 C) 12 D) 15

82. @ueln@® eruselleh urenyp LPEISET o dTaTaT. 1pF epLIUTNETET LipEIseT (§)Ted_ e
aulgydrer upiigenar ol 13w sig BswnEin. @uem_ s eoude upge euufsb
2arareng afll 3 aumenpLILIpEIEET @Genneunarnsh, (pse) enLIuQyeTar LIpEISeeT SantdH 5.

A) 6 B) 9 C) 12 D) 15

83. A'Tea trader mixes the two qualities of teas into one at the ratio of 5:4. The rate of first quality
tea was Rs. 20 per Kg and of the second quality Rs. 30 per Kg. He sells this mixture of tea at
the rate of Rs. 27.50 per Kg. Find out his profit percentage ?

A) 10% B) 124 % C) 15% D) 74 %

83. Gaali grdr afpuat @eums wggreisem Sig 4 siep aIFssH & FaRDTL. 1pse S
Baali grefler aflensy AGamafi e5. 20 -tb, Goeisr_mb pa gnofeir aflena HBGevr e5.30 2y @ih.
aetiu_tb Gty 1o grenar HGeun, ep. 27.50 eréiip IRssP D aNpprsd FenL d@ib
@eru ss alfGans seim@iiy

A) 10% B) 124 % C) 15% D) 74 %

84, Raja starts from point ‘A’ and goes 5 Kms to the North. Turning to right, he covered 7 Kms
distance and again turning to right covers § Kms distance and arrives at the point ‘B,
How much is the distance between the points ‘A’ and ‘B*?

A) 5 Kms B) 7 Kms C) 12Kms D) 17 Kms

84. @ongor ‘A’ argyiih ysreluflcd oy mbiFg, e Perauled S BBt il it QasBpni,
aliudas Bl T 8Cwr Bl i gnoapth, an@ib euewiiudga Hebld 5 HGsur
Bl i grogpth Qosingy' B erggib ysirellenw e Rpni. yerell A G@b Bawh
@en_Guuyener gnoth ereiien 9

A) 5 8.8 B) 7 &..8 C) 12 8.8 D) 17 8.8
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85.

§6.

86.

87.

87.
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What should be put at the place of “X" in the following figures ?

A) 25 B) 47 C) 37 D) 41
Bipdseim uLgBe ‘X e169p @)_gBeb G)mas Corsnig.w sredr srsirer ?
S“ﬂ 3 7i E 7 ¢ ‘é‘f
4 e -

A) 25 B) 47 C) 37 D) 41

What number should come in the place of question mark ?

27 24 51
19 ﬂ 33| 57 32 ?
A) 83 B) 75 C) 64 D) 69

Caciralld Rl L @GR erbg ereimencars @A Ceusim@ib o

27 24 51
19 | 46 l 3|57 ' 2|2 I
A) 83 B) 75 C) 64 D) 69

Which term is not correct in the serics ?
15,45, 90,360, 1080, 2160, 6480

A) 90 B) 360 C) 6480 D) 1080

Byeirar auflensg Glam_Meb seupnes ereir G159
15, 45,90, 360, 1080, 2160, 6480

A) 90 B) 360 C) 6480 D) 1080

(R
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88.

88.

89.

89.

91,

91.

92.

92.

A student got twice as many sums wrong as he got right. If he attempted 48 sums in all, how
many did he solve correcly ?

A) 12 B) 16 C) 18 D) 24

S wreseust Fllwns ClFus semagaener ol G)oaa() 1oL 5l Femd@HHer Falpnas
Gledigisenneir. ohg wremaist 48 sewd@semeand Cledigsrenen sramie, yeuer Qe
gfluner semaGaailen eremeslidanas aaaere) ?

A) 12 B) 16 C) 18 D) 24

A coin was tossed two times. What is the probability of its head and tail on the ground ?
A) 025 B) 0.50 C) 0.75 D) 1.00

S H15% GEapenp Hanmg afll il gl sise genauyib, artgyib (L4, seew) sanguiled
aflapeugn@ilu Rapaaa eerer 2

A) 0.25 B) 0.50 C) 0.75 D) 1.00

. At the fair I bought 6 erasers and 2 pens for Rs. 15. If I could have bought 4 more erasers for

Rs. 14 than pens for Rs. 9, the price of a pen was
A) Rs. 1.50 B) Rs. 1.75 C) Rs. 2.25 D) None of these

. S semaTHulled prer 6 pluitsesid, 2 Cueattdsgmid 15 epumis@ e FGerer. Qwrgsid

4 Guenndser 9 esLmiisE aunBiGausDHE@ uBens @lerauid 4 gliuiser Guonggtd 14esumi
wi @b Can@®sg wrkifema g Guearmaler allea erdiaueaey 2

A) Rs. 1.50 B) Rs. 1.75 C) Rs. 2.25 D) @eveu sigiayb@evensy

The mother of Mohan is double the age of his sister and his father is 20 years older than him.
On the day of the birth of his sister Mohan was 5 years. If at present his sister is 17 years then
what is the age of Mohan's parents separately 7

A) 34,35 B) 38,40 C) 34,42 D) 42,34
Gursefler gmi, seuer #Gangfew oI @orew® i kG HBs anugih, seugyent_w
sheng syoueer ail 20 arwgib siBaaperarauiset. Gunaaflar #Garsf Liphs Qurups
HUgDId@ g 5. gpOuTps syauer #Gansfiuiier auwg 17 ereipney Gonsefleir
QupCpriar aiwg sarer 9

“A) 34,35 B) 38,40 C) 34,42 D) 42,34

I'bought fruits from the market in a bag. Looking at the bag, my daughter asked me about the
quantities of fruits. T replied all are oranges except 15, all are mangoes except 20, all are
bananas except 25, how many fruits are there in the bag ?

A) 40 B) 60 C) 50 D) 30

s pengulleafl@ig e euiled uprisar eunm® auFGger. evuew LATSS eTen WEeT,
uphisefler stehrenfidensenw Galner. 15 gafly ereveurid pyrese Lipriser srepn, 20
priseons syenenggib wombLipmiser, 25 BRSNS HyenaTFgith eumenipLiLIpEISET eTep)Lh
# P Bereh. eonfelBES Lphiselen Qungs aemenlldens sichren 2

A) 40 B) 60 C) 50 D) 30
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Manohar starts moving to the north from his house to £0 1o his friend’s house. After covering
the distance of 100 metres he turns to right and covers 400 meters distance. Again he turns to
right and reaches his friend’s house after covering the distance of 400 meters. In which
direction and how far is the house of his friend from his house ?

A) 500 m, South-East B) 200 m, East

C) 500 m, South-West D) 300m, South

wGenngi pesui oIy @ Casvew, ser ol 1g.am s Ly Qasd@pmr. 100 B i
ghoib Qedry Aerent aruiiyypih Bl 40060 i SIugens &L_dBpni. Befa@ b
welipid Bubtd 400 B i grmb Glasinp) et afl vt syent_ S, BedrLresfisir ad (B
sibg Bevsuilh, sieiauerey ISP B msRps 7

A) 500 8 Glger-Rips e B) 200 15 &pé s

C) 500 if Ogeir-Guops; D) 300 18 Oz

. A bus completes half of the distance at the speed of 30 Km/hr and completes the second

half at 60 Km/hr. If the total distance is 20 Km then in what time the bus will complete the
distance ?

A) 90 minutes B) 60 minutes
C) 45 minutes D) 30 minutes

- 80 Cumhg Qede Guemgu grrsBe urPeaw wenflég 30 &8 GousgBayb, 15F

ur@enw wesfllé@ 60 8.8 GausgPayib SLEBngl. Quigsh Qasier Goushrgur e
20. 8.48 srafleh ercieuaney wesfl GrnsHen Cupsl S1bs gnogemss sL_d@i 7

A) 90 BB_diser B) 60 Ml miiseir
C) 45 UL riseir D) 30 fufle_siaeir

Which of the four numbers given will complete the number series when put at the place of the
question mark 7

2,5,12,27, ?
A) 54 B) 36 C) 4 D) 58

Buperen 4 sreiwaafleh srbg ereiw, s Gpm_Mgysiter Gaeirad) @Benw YisH Cediuub 7
2.5,12,27."7

A) 54 B) 36 C) 24 D) 58

. There are 50 national level players in a college. The college specialises in three games.

9 players play all the three games. 17 play only two games. 5 play volley ball and tennis.
7 play volley ball and cricket. Equal number of players play only cricket, tennis or volley
ball. How many players play cricket ?

A) 22 B) 29 C) 20 D) 34

- e ssvgrlufed 50 CaRuw wyeraflsh af o taelr o_direnait, B sevgrf

epeiipy eflenanum’ Gaesé@ Apiy LHe HefldBpg. 9 eflenerwin G efrissr apsiny
aflenarwme’ Goaflenerwn@eurt. 17 wresmeuise e ensrum @Gl GGw aflenearw m@ s,
SGui ‘eumelunad’ wppnh G ereflan’ everwn@eut. TGt ‘eurelumgyin’
‘BM&CE B elenerwin@®eut. s sreimenila et gpesr af wirl ® afoieer
BM&Cs", G araflay sebeg aredume w GG aeerwr@ai. srdgsemer Gui
8M&GEC. afllenemwT@Reui o

A) 2 B) 29 C) 20 D) 34
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97. A’ and ‘B’ start from the same
“A starts at 8.00 a.m. and he dr
he drives at a speed of 50

A) 3 hours

97.

98.

98.

A B @oam $Cr Bépa
Couam@id. A snenew 8 wesfls

A) 3 wenflser
C) 5 wenfsen

B) 4 hours

BN LI
Osm_mif), wenise 40 &), B Geuad Doy L ®&Rprr. B

& & 1l D

5% 50 880 i GaragFebr PLE®nri. B, A ene

-23- B

place for the same destination and they take the same route.
ivesatas
Km per hour. How much time will *B” take 1o catch up ‘A'?

peed of 40 km per hour. ‘B’ Starts at 9.00 a.m. and

C) 5 hours D) 6 hours

551, 205 anfule, 967 @ _geng Glasiiment_uw

The following arrangement is based ona

vacant space.

A) 4

8|6 4—‘

3 7

14 | 1618
B) 5

B) 4 wenhaenr
D) 6 wenflaen

certain principle, Keeping that in mind fill in the

C) 6 D) 8

@GO L a9Benus S LIS TS Glaresy Bupeiten 21186 sreiwasir
SIS LI Beitenan. sneSluins o erar S

4

Lgeng Baciys,

7

|

[t

A) 4 B) 5
. Find the missing number in the matrix
4 3 5 7
7 6 8 9
8 2 12 ?
20 16 28 50
A) I3 B) 14
- Bupsirer 51 1R snemiiLL 1
4 3 3 7
7 6 8 9
8 2 12 ?
20 16 28 50
A) 13 B) 14

18]

C)6 D) 8

C) 16 D) 18

& slehTeneny SMELY dmayih.

C) 16 D) 18
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100. In a family there are five brothers who are not yet married. Each brother has a sister and the
mother alive. How many women are there in the family ?

A)6 B) 10 G)'3 D) 5

100. 9@ GEUSPD Bwemonsns 5 sGansgissr o srerent. gaiGane sCarsrmaiE G
#@angiuyih, smujb o L sT o sreneni. syis GObLERD o diter CuenseT aFgeman o
A) 6 B) 10 C) 2 D)5

101. A clock is showing the time 12 hours 40 minutes. If a mirror is placed in front of the clock,
then what will be the time seen in the clock through the mirror 7

A) 11 hrs 20 mts B) 1Zhrsd0mts  C) 10 hrs 10 mts D) 8 hrs 50 mts

101. e@ syamb Cpogems 12:40 eren 1 GEpa!. S5 FONTCRATLY. NI hF HLg &M T et
upsTaIsh eweudgne, su.snsBer Gpuh asrarans sevemy it sy o

A) 11:20 B) 1240 C) 10:10 D) 8:50

102. *A’and ‘B’ are real brothers. ‘C’ and ‘D’ is a couple. ‘E’ is the daughter of ‘A’. ‘B’ is the
father of *D’. The husband of ‘F" is ‘B’. The mother of ‘A’ is ‘G’. ‘C" is the husband of the
daughter of ‘B’. ‘H’ is the daughter of ‘C’. What is ‘H’ of ‘F* ?

A) Daughter B) Grand daughter
C) Son’s wife D) Daughter of the daughter

102. ‘A’-1b ‘B’ -1b 2 efeniownen #Gsnsmiser. ‘C -tb, ‘D’ -1b sbuBser. ‘A'-ar waer ‘E'. ‘D -ar
speng ‘B’. 'F' -ar sesmeuri ‘B’. ‘A’-air syibon ‘G’ waer ‘B’ - &t semreurt ‘C'. ‘C it womeir *H'.
‘F g ‘H' eréirar 2 pay gpenp 2
A) waer B) CGui® C) wseaflsr o 9 D) waefler waer

103. A shephered had 17 sheep. All but nine died. How many did he have left ?
A) 9 B) 8 C) 12 D) 7

103. 9@ Cuidiudr 17 H@ s eoauiBmpsner. saphle eeiLg o @amans saily wppenal
Doigeii e Bguperer s @ser siggsmear o
A)9 B) 8 C) 12 D) 7

104. Ramesh is standing on the bank of a river with his back facing the river. A piece of a paper is

flowing in the water from left of Ramesh to the right. If the river is flowing from the west to
the east, then find out which direction is Ramesh facing ?

A) To the East B) To the West
C) To the North D) To the South

104, pGuey pRullelr sensBGund@ed ser wpaiGUDss srguiig Hern) Osray e,
96 fflu &8ss gien® 1Gwaflsr aliypsRSmEs GLaypuons sRV® Asks

GeBpgl. pRuneg GuwpReGig Npssns umigsrs, F@ioeay CpéHullms @b
Banserw serm@iily dsayb.

A) Bpds Curéd B) Gupe Gpré®
C) aid@ Gpréd D) @Qzpe Crra&
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105,

105,

106,

107.

108,

108. *

110.

110.

‘A’ is the mother of ‘B, hence ‘B’ is the daughter of ‘A’, This logic is

A) Right B) Illegal C) Doubtful D) Totally wrong

‘B’ eir wpibion ‘A’ srenGey ‘A& wogsir ‘B, steGas @i gﬁiamnsw_ﬂ

A) &M B) &y aﬂGmr,smrm@r

C) &]ﬁ@ﬁﬁﬁ:ﬂéat_wﬂmﬂ D) rofgyn BOUD Tergy

What will be (he relation of myself to the Patemal aunt of (he daughter of my maternal uncje 2
A) Paternal aunt B) Wife of my maternal uncle

C) Sister of my mother D) Aunt

- STeigyI ey BIUILD LD i waefler shos anf A 1T STedSLh ereiten 2pay o

A) siens anp Sdeng B) sminompey Loeearad
C) STeiTgmy en_uy b railer *Cangh D) g g

- In a certain code “TOGETHER” is written as ‘RQEGRICT". In the same code, ‘PAROLE

will be written a5
A) NCPQIG B) NCQPiG C) RCPQJK D) PCTQNG

90 #5105 GO 19 6y “TOGETHER”, ‘RQEGRICT 169 TALBLILIL Bisireng, e 2
[CT I T ‘PAROLE’ siig TOEHEHML 1 g ﬂ@g&udq.@é(gﬁa ?

A) NCPQJIG B) NCoPig C) RCPQIK D) PCTQNG

If ‘POND" js coded as ‘RSTL, how s ‘HEAR” written in that code.
A) GHIJ B) GHIz C) gz D) JC1Z

A) GHIJ B) GHIZ C) NGz D) JCiz

- A peon told hjs friend, “The be|| in the factory rings €very 45 minutes, The last bell rang |5

minutes before, The next will ring at 3 45 P-m. “At what time the Peon gave this information
to his friend 7

A) 3.30 p.m, B) 245pm. C) 230p.m. D) 3.15 p.m.

PG Hreivs 2 sofluren: B B g, D55 Yerauder T 45 ;S?L&L,g&ﬂaj@ S5

Yo galldGi. sam g i 15 ;ﬁz&t..{s@ﬁ(g LETL5 el PllEsg), HABES o115 1omeney
'3.45&@ R T ST g pfleorrmii, HBS S aicvs 2-gefluimeni geir ;sa’wu@ai@ @ss
aDopuigeng SIESenar wenlld @ Coneirery; ?

A) 3.30 p.m. B) 2.45p.m. ) 230 p.m. D) 3.15 p.m.

IfR is ranked second and Q is rankeg fifth, which of the following mys be true ?
A) S is ranked 3rd B) T is ranked gth C) Pis ranked gth D) V is tanked 4th

R’ @uain_ ey D58 Qe Lpps Q' BT @) 5B Q@ isaa,
Sgbaiasén_mﬁéﬂd: Ty o!ﬂwnmgnﬁ@ga‘a(g:b 9
A) 'S peTprag Qg8 2 aiTomgy B) T DTG B G R 2 dirergy

Cc) p UDTUE B GR6 2 sitengy D) ‘V'j;rrdramm_ﬁ; B iPa 2 sirargy
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111,

112.

112,

113.

113.

114.

114,

115.

115.

1.
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Ram is taller than Shyam but shorter than Anurag. Anurag is taller than Raghu, but shorter
than Chotu. If Raghu is taller than Ram, then who is the shortest ?

A) Shyam B) Raghu C) Anurag D) Ram

gD @pTEniD el o wgth LeTed ST aflL @eirent. I TTE TG afl 2 wigih.
syermed FBFaGe aflL. @erenib. U, ITML il o wons @EBHHTR, wirr (Al&ayLb
@simtrmnmmri 0

A) elpuwimth B) 1 C) wigigns D) pmib

Rita introduced Ram to her husband and said, “Ram brother’s father is the only son of my
grandfather”. How is Rita related to Ram ?

A) Mother B) Sister C) Niece D) Aunt

gentn e serauifli_tb oflapath Qg AL, gmiflen mibifuileir SyciLim seir angznainE
§87 was s1epl EN LA siug Quaflsy, mmipé AL eTeiTent 2. D&y ?

A) s B) aGanail C) spamgaifl #Garsd D) S5

In a certain code language. ‘FREEDOM’ is written as GFQDENN. How will the word
STRONGER be written in that code language ?

A) TNSSOFFQ B) TSNSOFQF C) TSSNOFFQ D) TNSSFFOQ

g6 GO Quomyflulish ‘FREEDOM sigyitb Glansb JGFQDENN eréiipy 2-6Tensgl.
g ereficd , 085 GITCG Guomfluilsy, STRONGER s1gith Qs sreiaung) GoéaLs
UL HGD ?

A) TNSSOFFQ B) TSNSOFQF  ©) TSSNOFFQ D) TNSSFFOQ

If *+ is written as ‘=", " as "+ s etas'yand fTas ', then what will be the value of
the following equation ?

7-30 + 5% 1+49=1

A) 205 B) 206 C) 216 D) 256

g ' eranpnd. X @ L ereneyih, g ‘X arerab,’+ & 4, sremayih @Pgsne, BGp
Qan@agiarer FIoa LIn13.65 By erdsauaray ?

7-30 + 5% 1+9="7

A) 205 B) 206 C) 216 D) 256

If A + B means A is the sister of B, AxB means A is the wife of B, A + B means A is the

father of B and A — B means A is the brother of B, then which of the following expresses the
relationship that ‘T is the daughter of P* ?

A)PxQ+R+S8-T ByPxQ+R-T+S
C)PxQ+R+T-8 D)PxQ+R+S+T

A + Beririg B -6t giiens A stamayth, AxB etz Ber wenenadl A stewayib, A + BeretLigl
B-er syiuim A aremayib, A—B, Beir sthd A eremaytd B BHETD, BBp o_siran 61b% @PuiE ‘P e
waer T aiggith 2 pesas GRS ?

A)PxQ+R+8-T B)PxQ+R-T+S
C)PxQ+R+T-S D)PxQ+R+S+T
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116.

116.

17.

117.

118,

118.

119.

119.

120.

Looking at a portrait a man said *“That man’s father is my father’s son. Brothers and sisters 1
have none”, Whose portrait was the man looking at ?

A) Grand father B) Grand son C) Son D) Father

gailuh getepl LTigsl, @ walst Qendians ‘@ps ealwiBad G udid puler shma
s16 BHEnBUTlel Lo&eil , eTews@ HibilaGern, sniasBern e wis. elafley, syeud
galwiBed LTigs FuF wrr 2

A) sngsn B) Guger C) s D) spens

20 men can dig 40 holes in 60 days. If so how many days will it take to dig 20 holes by 10 men ?
A) 30 days B) 45 days C) 60 days D) 75 days

40 grenenaenen 20611t Gariggr 60 prlsefed GurL wpipuyib. sy Queprsy, 10Gui
Goiiggs 20 gienaraenen sraiauenay prl seflédy Gumwpiguph 7

A) 30 prc s B) 45 pn seir C) 60 praar D) 75 poiser

What would be the most useful thing to do first of all if you see a car going at high speed,
which has just run over a child ?

A) Note down the number of the car B) Shout for the driver to stop the car

C) Hire a taxi and try to follow the car D) Inform the police and take the child to hospital
@0 Gppenguier ibg CGuwiBall @ HBCaswrs CFcdayh @uraTengls Lniggsme, Biser
GlodwGarstmgw (wpss0 wphmih Rsah o uBurswner Qewsd g 2

A) anit stamenen GpilEgi4 Cansraig

B) @l Gper areng fpusstensel smiselBac

C) anens snfled syis sney Yt Osmimsa

D) sraucanmé@ saash sefdgell @ Gpieosew @giga weameasg a@sg Cssmevs
Arrange the following words in a meaningful sequence and then choose the most appropriate
sequence from the alternatives provided below :

1. Police 2. Punishment 3. Crime 4. Justice 5. Judgement

A) 1,2,3,4,5 B) 3,1,2,4,5 C) 3,1,4,5,2 D) 5,4,3,2,1
Bipdangmnb Qenpaener GlLmgeserear cuensuile) aulensiLB5 g 5.

l. Gunsev 2. gamenenr 3. @opd 4. 3B 5. Bidy

A) 1,2,3,4,5 B) 3,1,2,4,5 C) 3,1,4,5,2 D) 5,4,3,2,1

1/4 of a certain journey was covered at an average speed of 45 Km/hr. 1/3 at the speed of

48 Km/hr. and the remaining journey at the speed of 50 Km/hr. The average speed of the
whole journey is

A) 54 Km/hr B) 51 Km/hr
C) 48 Km/hr D) 46 Km/hr

. BIEIRe @ LG Lwessag sorsfuns weslldg 45 .18 GusiBe sLdis (Lpig.uyLb.

13uwemgeng wesfld@ 48 5.8 GausgBayb, isuparar Lweamgens wenflde 50 .16,
GosgBanb sL_da upub. g Guefls) Gongs LwemsBer smmah Ceusih ereien o

A) 54 8.8/ wenfl B) 51 &.18/wenfl
C) 48 &.uf/ 10wl D) 46 &)..5/wend)
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Below are given marks
and then answer the following three qu

-28-

of two candidates P and Q in four papers

L

cach. Study these marks

estions from Q.No. 121 to 123

2P, Q argpud @)@ woremariseT, preing uTLRisefs GupD
@R @Ha! Lisiab 3 Gaerailsende (Gaeral ere 121

121.

121.

122,

122.

123.

Candidate P Paper 1 | Paper I | Paper I | Paper IV
Maximum Marks 75 100 80 70
Marks obtained 45 65 50 35 |
Condidate Q| Paper V | Paper VI | Paper VII | Paper VIII ’
el w [ m W | ™
| Marksoainea | 56 | @ | e | @

RGO sjefllbaIUL BeTaTet.

apaed 123 aueny ) aflent_welflds.

Considering the performance of
performance ?

A) Pinpaper Il C) Pin paperl

B) Q in paper V

e P’ J— prsr 1l | gror 11 | guor IV }
B’ F ‘
DD LG e 15 100 80 70
GPHPHLIGIL & 45 65 50 35 l
wremari 'Q' srer V gmrer VI | grer VII grar V11
B s T |
wPriGLisi 80 75 100 70 |
Iﬂ.@pmﬂd@uﬁ 56 EN 0 | 42

‘P’ and ‘Q’ together, who inTv-l-ﬁch_isamr h_as_pul up the best

D) Q in paper VI

P, Q @aeuden PG usTE T UL, wi, s1ES LML SBe hsFfpiuins Ggid

Qlagh I GETTTTT GTEHT o 1)

A) Pgnin ll &  B) QguarV & C) Pamarla

How is P's paperwise performance ranked best to worst 7
A) ILLILIV B) LIL 1L IV C) ILIOL LIV

umth eunfwms Puflss UG uETEmeT,
suenguligyih eTaiaITHI auflengwnas goblemb

A) ILLILIV B) LILHLIV C) ILUL LIV

_ Considering the performance of P and Q in all the papers

B) ‘Q’ has done
D) Itis difficult

A) ‘P' has done better than ‘Q’
C) Boih have done equally well

D) Q e V1 &b

D) IV, 111, 11

B Bpliurans @psed s Grongomengl

D) 1V, 111, 111

better than ‘P’
1o say who is better

P wib Qayib stebsurm um_iigefigyib QUBD BHLIGUeTSET saueTg e Qanein®

B) Q, P-eow af
D) wnd peinrs
F19.STLOTELD

A) P.Qeveu el peirpra Qa1 BmaE DT
C) @ua@Gn Fowns BETDTE
QediP T STpent

L perpra Gl 0IB mEEp

QiR maRpri sren GQEmsag
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Below is given a passage followed by several inferences. You have to examine and answer
accordingly from amongst the alternatives provided for the following 5 questions from
Q. No.124 to 128

Wind is an inexhaustible source of energy and all aerogenator can convert it into electricity. Though
not much has so far been done in this field, the survey shows that there is a vast potential for
developing wind as an alternative source of energy. The wind survey has four components, —
direction, duration, speed and distribution. On this basis U.P. hill areas have been found an ideal
place for setting up acrogenerators. In U.P. hills alone, as many as 58 sites have been identified.

8Cy 9 GBTL(B1h 2B Liev jgbTenIHEyD SNEAILLC Hererer. @eupenp ufPeener
Glauig Derangib 5 Casrailsgsse ol wardsaub. (Cxarad areiw. 124 upsed 128 aieng)

sappn, Bigs Cunasng. fHeowif@isd sywu i@l aporsrrorgh. s
aGungenGul it (BsisdPuns wipp&pg. @ssepuic HBswrs puph Qediung
GunBguib, sapp, rppled@uns Lwsu@ Bpgystonstes sydiemeat mpRaner. sipenp
upplu gLiia Freng uGHL Qungsiamend QanarL gl -Beoe,srew @i Gaeh, Gasib,
uRiggeliiy. @aer sylusi e 2.8 vewlugBads oGrrmeaGrl L isemer
(anpplefmps 106 o HLgH Qoviuyh QupBrhsemer) Qurgsgiaspeiu Apss G tsers
sefpfluc L’ Gararer. o109, wewsefid wlGib 58 @ risdr Qzfey Qediuiu Gerarar.

124. Only the hilly areas of U.P. were surveyed for setting up acrogenerators.
A) Data inadequate B) Definitely true
C) Probably false D) Definitely false

124. amppy Beir 2 pugh QuipBodisener Flpies o 90Gss wenavliL@Baer L GGw
semdGaBaals Ll B ererer.

A) s CurBu ereunengeie B) gléswwns 2 ewenin

C) epgsmp saupneb D) péfwiwors sam
125. The survey was conducted under the government of U.P.

A) Definitely true B) Probably true

C) Data inadequate D) Definitely false

125. @ps semaCa®iiy o .19 yrfemsd Cup@arareriu L sn@h
A) Béswions &M B) sflwne Gmde eumddiysieng

C) saausd Gung orersae D) déRwiwns seum

126. Wind, as a source of energy, can replace exhaustible sources of energy
A) Definitely false B) Probably true
C) Probably false D) Definitely true
126. Bipg Cunssd smuyw 4Bapansnimsend e LBwTs s1Henp OADHD F&E WS
LT (B ESevTib.
A) gléswinns gaip B) #funas @@ds eundiiiysitengs

C) geupnas @ymda sumdiliysrerg D) fléswions e



127.

127.

128.

128.

129.

129.

130.

130.

131

- 131,

132.

132.
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Energy by wind is a comparatively new emerging field.

A) Probably true B) Probably false

C) Definitely true D) Definitely false

snpPempal e o pUEEH OFiag LB UBIS Ganenflusirer grenpun@Lb
A) eflwns G @és emiiliysmang B) seuprs @és eimiliLerang
C) epBuns sf D) em@wns sem

58 sites identified in U.P. did not have electricity.

A) Definitely true B) Data inadequate

C) Probably true D) Probably false

2..1900ze5Be QpMea; Qe Gere 58 @ dimefst BetenraEE @
A) Péswions i B) saausd Gurg LD meTE e

C) eflwns @@és aumdlistang D) seupns @)@Hs QML siTeT g

Find the correct answer Dungeon : Confinement : : Asylum : ?

A) Refuge B) Mercy C) Truancy D) Remorse
sunen eNer_emu Gsitg a@asab. @G LD : fenpeunath :: yseSliib : ?
A) sesewalldgil b B) @uésid

C) Gembi9PAED D) wew o enendasd

Pick the 15t, 200, 4th, 5th and 6 letters of the word ‘REASONING', form yet another word

and then write the 15t and the last letters of the word formed
A) OR B) NE C) SE D) ES

‘REASONING' sreirp qumigengsulleir @wpseb, @ e eug, HrHETAIS, @ESTOIS LODDILD

DTG STURSHISHSEDET RS 9@ LB aunigengenus 2 (asTHE DB (LPBE
sTpFensuLh, senl_§ epseFuid sipBemme S

A) OR B) NE C) SE D) ES

Arrange the given words in the sequence in which they occur in the dictionary and then

choose the correct sequence
1. Protein 2. Problem 3. Proverb 4. Property 5. Project

A) 1,2,3,4,5 B); 2.}, 43,8 C) 2,5.4,1,3 D) 3,4,5,2,1

Bipdadngmitd BRI aunijengsenar HHITE (LpePLILILY. auflenaiL@ESa|LD.
1. Protein 2. Problem 3. Proverb 4. Property 5. Project

A) 1,2,3,4,5 B) 2,1,4,3,5 €) 2.5/4,1,3 D) 3,4,5,2,1

1n a certain code language water is written as food, food is written as tree, tree is written as

sky and sky is written as wall, then fruit is coming from where ?
A) Water B) Food C) Sky D) Tree

@ FHBHS Guomflufleb, it a_eswray cremayLb, 2 ewTaY LOJLD STEN@LD, LoJLh QUITENILD eTen@yLD

auenLh Faui slemaylh G@EmeRTL T, LIpLD aP el hg GRS ?

A) Bi B) o emrey C) eumamib D) wgib
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| 133,

133.

134.

135.

136.

135.

136.

In a ceratin code language Room is mentioned as Bed, Bed as Window. Window as Flower
and Flower as Aircondition means, you will sleep on which ?

A) Window B) Bed C) Flower D) AirCondition

g #uGss Gumfluieh senp aaug LB Ges sterajib, LR Gens geTenel seTayLh, geitars)
L sTerayib, Ly @efiFngenh erend Glanai e, g sTFSH 2 nikiGauTeir?

A) merere B) u@péms
C) u D) @efltengannd

. Your family is giving many unsatisfying reasons for not marrying the person whom you love,

What will you do ?

A) Twill listen to my family

B) Will be in a confused state and not able to take a decision

C) Iwill marry according to my wish

D) Convince my family to marry the person whom I love

# Bmwemnb Gledig Gamsrer Caiftls@a@n guaens Bigwoemh Gledg Cansrendsm nsl

ereitugpans L Ban Qenpsd angemiisene ead@ BoUBwuelldans amsullsd o eng
GE UGB FpRepent arafled, § ereiren Gawianmi 2

A) @@iugBent QanpLig BLfss CanaGas

B) WH@hs GpULGSIL @b, tpyBa@ds wpuurs Heawdgib @oGusr

C) eremgy Qanis afgliuiung. Gaik@s®asaemrGu wenb (1pigtGLis

D) GsitGs@ssaemiGu wemipiyds GHLUGHereny FiboBds enasds pupnd GlauiGasen

Make a meaningful sequence using the following codes.
1. Andhra Pradesh 2. Universe 3. Tirupati 4. World 5. India
A) 1,5,3,2,4 B) 2,1,3.5.4 C) 3,1,5,4,2 D) 5.4,2,1,3

Brpdaenn._. eunigengaenen Qunger snipg aullevswns wippis

| (oGssd 2. e tb 3. Bwoud 4 cowsd 5 @B

*A) 1,5.3,2,4 B) 2,1,3,5,4 C) 3,1.5.,4,2 D) 5.4,2,1,3

“Appreciation™ is related to “Reward” in the same way “Disagree” is related o
A) Crime B) Guilt
C) Allegation D) Punishment

‘umgnt. @' e e GariyerergGuired ‘weneB iy’ eizgy e Glgm e wg ?
A) & a9CGrasimren Glawsh B) gsopib
C) @ppdsnpm D) pe_anar
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137.

138.

138.

139.

139.

140.

32 (IR

. What should come next ?
Theft : Confess :: Fault : ?

A) Commit B) Admit C) Dare D) Mistake
awllensulch oy@E5515 a5 ugGaua@ith 2

BEL0 - ghpses goaatlans : : @a@pun® : ?

A) o pBwef B) gUydGsmer

C) guenllayGlemer D) seumy

“Read the statement given below and select the correct answer.

Statement : The decline of British empire should have spelt the decline of English.

A) The statement is a fact

B) The statement is an opinion

C) The statement is an advice

D) The statement is a prejudice
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Pointing to a man on the stage, Rita said, “He is the brother of the daughter of the wife of my
husband”. How is the man on the stage related to Rita ?

A) Son B) Husband C) Cousin D) Nephew
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PATROL is related to security in the same way as Insurance is related to
A) Money B) Protection
C) Policy D) Finance
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141. To whom the original post mortem certificate has to be sent by the Medical Officer ?
A) To the Judicial Magistrate concerned
B) Concerned Police Station
C) To the Inspector of Police
D) The Chief Judicial Magistrate concerned
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142. A Police Officer can investigate a non cognizable case
A) On orders from Judicial Magistrate
B) On the orders of District supdt. of police

C) On the orders of the Station House Officer of the police station
D) On the orders of the District Collector
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143. A victim of crime can lodge a complaint with
A) Court B) Superintendent of Police
C) Police Station D) All the above

143. LnBéstuc L puit Bpésam @ sisefed yamt Qadwend
A) FBwenib
B) srausigienp seiwasrewliiumart
C) smeusd Flemavuith
D) Cupsenr senargg @) risafigib
144. Tn a complaint of theft of an article, when value is less than Rs. 10/=
A) The police should Register a case and Investigate
B) There is no need for the police to register a case
C) The police can refuse to register a case
D) The affected person can take action directly
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Properties found on the corpses of unidentified persons, who have died of natural causes,
shall be taken charge of by the police and sent to which of the following authority ?

A) Judicial Magistrate B) Thasildar

C) Village Administrative Officer D) District Superintendent of police
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Can a Head Constable or a Constable declare an assembly as unlawful ? If so/not, under
what provisions 7 .

A) Can declare-P.S.0 703 CrPC 36

B) Is not empowered-P.5.0 703 (d) r/w 129 CrPC

C) Can declare-P.5.0 703 CrPC 97

D) Can declare under emergency P.S.0-703 CrPC 147
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Is a Head Constable manning police out-post empowered to register EL.R 7
A) Yes can Register FLR B) Make G.D. entry and report to SHO
C) Only in Mir.or cases D) Only in Grave Cascs
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Station crime history consists of how many parts ?

A) 2 parts B) Onlyonepart C) 3 parts D) 5 parts
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In respect of charges of tortures or death or grievous hurt caused by the police the senior
officer receiving a complaint should after a general enquiry, report the case at once (o

A) AD.LG. of police

B) A Superintendent of police

C) Inspector General of police

D) Revenue Divisional Officer
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The personal files of the Head Constables in the Taluk police are maintained and kept in the

custody of

A) Sub divisional police officer

B) Superintendent of police

C) Deputy Inspector General of Police

D) Inspector General of police
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Who in the village is provided with a badge with inscription “Village Police™ ? F
A) Police Constable

B) Village Head man

C) Thalaiyari

D) Karnam
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152. Which P.S.O states persons whose finger prints are to be taken for record ?
A) 802 B) 803 C) 804 D) 8Ol

152. a1 smauch Flency HenenT ST, srauiserenw aflged L aymenar ISR DETE TBGSHIH
GQamsirer GeuaaBib sT6TD FIF DS ?
A) 802 B) 803 C) 84 D) 801

153. The possession of lathi by constable during Jarge assemblies such as festivals, processions
and the like is mentioned in P.8.0.
A) 375 B) 537 C) 735 D) 374

153. Baefpriser, smiaeiissr, wpgefluer Gurep QLILD Fal’ LBIKST dn (B FLOLEHD
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Geoueht(BLh 61T FnpILh HIT. .. STEWT.

A) 375 B) 537 C): 73> D) 374
154. Use of handcuffs to the accused is dealt in P.S.0.
A) 641 B) 640 C) 645 D) 650
154. mafém eaaleiig GuiGss upd @I ST Penew gy enest credT. —
A) 641 B) 640 C) 645 D) 650
155. Police officers are forbidden to issue one of the following to private individuals
A) Copy of ELR. B) Character certificate
C) Copy of search list D) Witness summons
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156. A person who is arrested by police should be informed of the following
i) His grounds of arrest
ii) His right to be consulted and defended by legal practitioner
iii) Source of Information leading to arrest
A) (i)alone B) (ii)alone
C) (i)and (ii)only D) (i), (i1) and (iii)
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Appeal against acquittal in a case is decided by
A) Superintendent of police B) D.LG. of police
C) District Collector D) State Government
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‘Q’= Branch deals with

A) Idol thefts B) Accidents

C) Extremists D) Police Administration

‘Q’ - ifadeir Geusnaw

A) Berav Bl Gaar Lppug B) efluggiser Lippiwg

C) BalranBaenens aanasreniliiiLg D) smeust @lieunaih uppiuig

Who conducts the examination for selection of IPS officers ?

A) TNPSC B) UPSC C) BSRB D) RRB
@pPw sreueh uenfl B snAaenens CaipCsBé@ Caieysmen BLgaieus wmi ?
A) 1g.er6r. 9. 6100 B B) w19 e1e0. 8

C) 9.a760. 719 D) ayi.opiaf

. Police Personnel Information System (PPIS) is maintained by

A) Modus operandi Bureau

B) Tamil Nadu Police Computer Wing

C) Crime Branch Criminal Investigation Department
D) Special Branch Criminal Investigation Department

. aneush sgyaeiselidn uenfipeaps saacsemarts (PPIS) ugmofiLg)

A) Glsweb penp sar_tb

B) s8lippn® sneush senfief (Ifay

C) @ppindie) gppl yewermies siop
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Final report is prescribed by which section of Criminal Procedure Code ?

A) 173 B) 154 C) 82 D) 436
BoB Psens @pp elenrenent (penps s 1L 5Behr sipg 9faflen Sip
IOL@SSIL Beiteng 9

A) 173 B) 154 C) 82 D) 436
Sardar Vallabhai Patel National Police Academy is situated at

A) New Delhi B) Dehradun C) Hyderabad D) Mussooree
Figmi euebewLimil UG cd GsMw smassh FPELh yeniopgierer G tb
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. With whose order, a police officer can investigate a non- cognizable offence ?
A) Judicial Magistrate
B) Deputy Superintendent of Police
C) Thasildar
D) Superintendent of Police
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Within how many hours, arrested person shall be produced before Magistrate excluding the
time necessary for the journey from the place of arrest to the court ?

A) 12 hours B) 48 hours

C) 24 hours D) 36 hours

. ag QEiuliul L et egl Qediuiiu L @rgBalumHa ERSTPSB DG SNeLpHE
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A) 12 wenf B) 48 wewnfl

C) 24wenf D) 36 wenfl

The appointing authority of Sub-Inspectors of Police is

A) Dy. Superintendent of Police B) Superintendent of Police
C) D.ILG of Police D) Director General of Police

2 gofl guiauTeTIHE@GT Auwoernd Qe SIB&TID Qs metr_auit
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A Police Officer, who is on compulsory wait can avail joining time to join his new post for
A) 6 days B) 7 days
C) 2 days D) No joining time
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What is the time limit to prefer mercy petition ?
A) One month B) 3 months
C) One year D) Notime limit
FGENERT LOG) ek 677 FANIE@ D Fut T Fenan B S @& ST F10/107 055 Cousim@up »
A) @ wisih B) epeirgy wnassiser
C) 96 syam D) srev aumiy Beni_wimg
The maximum period of Special Disability Leave sanctioned to a person is
A) 24 months B) 12 months
C) 6 months D) One month
Sy Guerenio DO P aii Fions STEURISTRY BT1" &6 QUL LI B E g
A) 24 ivngmiser B) 12 wngmiser
C) 6 wrsmsen D) e@ wigwb
- Medical History Sheets of Head Constables shall be in the custody of
A) Station House Officer B) Sub-Inspector of Police
C) Station Writer D) Circle Inspector
F: bd &Taleisefes LOGHZIN ugendn) sr@aer g @ apdes Goreiin
A) Poow sras seyaei B) amitiy-gyuiaumeni
C) devew SIS ET D) an'o <&, Wieument
Which of the following reward is not awarded to Sub-Inspectors of Police 7
A) Good Service Entry B) Meritorious Service Entry
C) Money reward D) Both A and C
Bpaaim_apmieh 2 gaf BI85 i QAL 15 Qoo &gl 9
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